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ESERCITAZIONE 7
Yy =3y=0, (y(z)=Ce")

T 1
Y =34 (yla)=Cla?—1]2)

V' = s (y(z) = Ce?Vot?)

y=-y+e’,  (yl)=e"(z+0)

y+i=1  (@)=1+%)

y=2+z, (y(z) = 2% + Cx)

y+y=2xe",  (yx) =e"(2* +C))

Gy" —5y' +y =0,  (y(z) = Cres + Ce?)

y' =2/ +y=0,  (y(x) = Cre” + Cyze”)

y" 4+ 9y =0, (y(z) = C} cos 3z + Cysin 37)

y" — 3y + 2y = 4, (y(x) = Cre® + Cre*® + 2)
y'+4y =1, (y(z) = Cy cos2z + Cosin 2z + 1)
y" — 6y’ + 8y = e”, (y(z) = Cre*™ 4 Coe™™ + Le7)
y' +y=x+1, (y(xz) = Crcosz + Cysine + x + 1)

y" —y =cosuz, (y(z) = C1 + Coe™ — %cosx — %sinx)



